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 �م ����؟. ��ام ا�� پ�� از ا��م �� ��ر�� ����� ����� �� و ا�� ��ر ���� �� ��� ا��40

�������������و�د���،���زو��������������2و�د���،�����ا������1
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  ز��ن ��ر��:

PART A: Vocabulary  

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then 

mark the answer on your answer sheet. 

  

41- Holidays are often ………… by public ceremonies, such as carnivals and religious observance; 

they may also be simply a time for relaxation.  

1) accompanied  2) attended   3) concentrated   4) presented 

42- Penicillin, grown from a green mould, is a powerful ………… of destroying harmful germs in 

the human body.  

1) choice   2) way    3) means    4) fund 

 43- Every society is ………… and many different factors affect the process of making decisions 

and using power.  

1) difficult   2) complex    3) restricted    4) severe  

44- Europe is warming up quickly than the rest of the world, and cold winters could disappear 

almost …………�by 2080 as a result of global warming.  

1) honestly   2) strongly   3) fluently    4) entirely  

45- I was just wondering how astronomers ………… their facts. I'm sure it takes a ton of 

researching!  

1) engage in   2) be in on   3) come up with   4) call down 

 

PART B: Grammar 

Directions: choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then 

mark the correct choice on your answer sheet. 

 46- …………, my youngest brother will stay in bed for a very long time.  

1) Having been injured    2) To be injured  

3) To have been injured    4) Having injured  

47- We know you ………… as disappointed as we are, and we apologize and hope you understand 

the circumstances were beyond our control.  

1) should be   2) were   3) may be    4) must be  

48- It is hot and dry here; I wish I …………�on holiday soon.  

1) could go   2) will go   3) would have gone   4) have gone 

 49- It is not possible to mark your screen incorrectly ………… the computer program will 

present only one question on each screen.  

1) although   2)if   3) because    4) unless  

50- She said she would apply for the position after she had completed the English course, 

…………? 

1) hadn't she   2) didn't she   3) wasn't she    4) wouldn't she 
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PART C: Cloze Test 

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each 

space. Then mark the correct choice on your answer sheet. 

 Education begins the minute a baby is born and continues throughout life. Some believe that 

education begins (51) ………… before birth, as evidenced by some parents playing music or 

reading to the baby in the womb in the hope it will influence the child's development. For some, 

the struggles and triumphs of daily life are far more instructive than formal schooling. Family 

members have an educational effect which is quite profound - often more profound than they 

realize - though family teaching (52) …………. . Formal education occurs (53) …………�  society 

makes a commitment to educate people, usually the young. Formal education can be systematic 

and thorough. but the sponsoring group may seek selfish advantages when shaping 

impressionable young scholars. Life-long or adult education has becomes (54) …………. . 

Lending libraries provide inexpensive informal access to books and other self-instructional 

materials. Many adults have (55) ………… the notion that only children belong in school.  

 

1) still    2) so    3) yet    4) even  

52- 1) highly may be informal   2) may be highly informal  

      3) may be informal highly   4) may highly be informal  

53- 1) before   2) when   3) in spite of   4) despite  

54- 1) itinerate  2) obvious   3) widespread   4) ultimate  

55- 1) taken up  2) gone in   3) kept after   4) given up 

 

PART D: Reading Comprehension  

Directions: Read the following passage and answer the questions by choosing the best choice (1), 

(2), (3), or (4). Then mark the correct choice on your answer sheet.  

 

Does advertising encourage waste by persuading consumers to buy goods that they do not need? 

In reply to this. it has been pointed out that all the consumer really needs. is a bare minimum of 

clothing, food and shelter, and that one of the distinguishing marks of any civilized community is 

that it lives well above the minimum subsistence level. Most advertising is designed to influence 

the consumer's spending power. In western countries, advertising has played a great part in 

bringing laboursaving equipment, and so a degree of leisure, and even luxury, to millions. 

Advertising that encourages the public to want more is also claimed to act as an incentive making 

people want to earn more in order to buy the goods advertised, and therefore making them work 

harder. For this reason advertising has been defended as having an essential part to play in the 

move towards higher standards of living. The defenders of advertising also point out that it is not 

solely concerned with encouraging the public to spend. Banks, insurance companies and building 

societies are amongst the commercial advertisers who encourage saving. 

 

56- This passage mainly …………�   

1) presents a positive attitude towards advertising and its benefits  

2) enlightens the public as to the misleading aspects of advertising  

3) draws attention to the large amounts of money wasted as a result of advertisements  

4) emphasizes the vital importance of advertising for banks and insurance companies  
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57- Advertising, based on the passage, tries to ………… 

1) make the public better informed about how to manage their savings  

2) make working life more competitive and sociable  

3) advise working people on how to avoid excessive spending on luxury goods  

4) encourage people to attain higher and better standards of living  

58- It's referred in the passage that ………… 

1) advertising does not always aim at making people spend  

2) advertising is most effectively practised in western countries  

3) those who attack advertising are the people most affected by advertising  

4) luxury goods are more extensively advertised than other goods  

59- The subsistence level in line 4 refers to …………  

1) the conditions in which there is no need advertisement  

2) the level of being in a welfare state  

3) a standard of living that provides only the bare necessities of life  

4) a state of being unable to buy the minimum needs  

60- The word "solely" in line 12 can be substituted by …………   

1) hardly   2) only   3) commonly   4) partly 

 ر���� و �����:

�f�xا�� . 61 � �
�

�−��
�g�xو   � �√1 �  ، ��ام ا��؟(x)(gof)����، دا��� ����  ��

1��(�∞,�√2] ∪ {0}�[√2,�∞� 

2��(�∞,�√2] ∪ [√2,�∞���

3��R � ��√2, √2��

4��R � [�√2, √2��

62 ���� .lim
�→��

√�−COS��

��
 ، ��ام ا��؟

1��
√�

�
����2��

√�

�
���3���

√�

�
���4���

√�

�
�

�f�x. ���اد ���ط ��پ������ ���� 63 � ,��πروی ��زه  �����2] πام ا��؟��� ، 

1��6���2��5���3��4���4��3�

64 ���� .lim
�→�

�
��−�

��+�
�
���

 ، ��ام ا��؟

1��e����2��e����3��e−����4��e−��

∑�ی � ����. 65
����−���

���
�
 ، ��ام ا��؟�=�

1��
7

�8
���2���

7

�8
����3��

7

9
���4���

7

9
�

�f´�x. ا�� 66 � �
�

�
����f�cot، آ���ه ���� ����   x، در ����  �� �

��

�
 ��ام ا��؟،  

1��2���2���������3��-2���4��-4�

y. ���د�� �� ���س �� ���دار ���� 67 � �
���

��+�
 ، در ���� �� ��ل ��، ��ام ا��؟

1��y � x � √� � 1����2��y � x � √� � 1�

3��y � 2√e�����4��y � √��
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�

68 .����∫
��� �

����.√��� ��
dx ،ام ا��؟�� 

1��
�

�
cos−

�

�x � c    2��
�

�
sin−

�

�x � c�

3��
�

�
cos−

�

�x � c����4��
�

�
sin−

�

�x � c�

�. �� ���� �� ���د�ت �������69
x
y
z
� = �

2
5
1
) �

2 �1 1
1 2 �1
2 3 4

داده ��ه ا��. و�� ا�� ����ت ���� �� ��  (

 ����� ا��؟

�ا��.����ازی����2ا��.���در�������������ک1

���دو������از�����������������.�����������4ا���اک���ار��.�3

��y ����� ��� ���ود . 70 �
�

��+�
د���. ��� ��� ���� ��ام �� دوران ��yرا ��ل ���ر  x=4و  x=1و دو ��  

 ا��؟

1��2πtan−�4���2��2πtan−�2���3��2π ln 2  4��π ln 4�

. ���ار 71
∂�

∂�
,�πدر ����   1, ��zای ����  ��� � x� � y��sin��xyام ا��؟��� ، 

1��1   2��π����3��������4��–π�

�. �� دو ���� 72 � ���2Xرد �� �� ���� ��� ���� �� ���2,1,�2و  ��1,�1,3 � 4Y � 10Z �  ، ���د �����؟ 10

����ر���������3��������4ا����دو�����1���������������2

 ، ��ام ا��؟ABا��. ��ل و�� �2α. در ��� ز��، در دا��ه �� ���ع وا��، ا��ازه زاو�� ����ی ��ا�� 73

1��2cotα 

2��2tanα�

3��2sinα�

4��2cosα�

آور��. ����� ����� ���وط را �� ��� ���وط در �� 135و ��ل ���ن  3. در ��� ز�� ����� از دا��ه �� ���ع 74

 ����، ��ام ا��؟

1��
9�

8
 

2��
9�

�
�

3��
�7�

8
�

4��
�7�

�
�

ا��او�� ����وی ا������ د��� ا��. ا�� ���ا�� ����� ���� ��ئ 9ا��او�� ����وی ا������ . ����� �� ���� ��ئ�75

 ����، ���� ���� ��ر��� ��ام ا��؟ 6√ا��ازه و�� ���� ������ ��ا�� 

1��6�√3 � √6��

2��6√3 � 3√6�

3��3�√3 � √6��

4��3√3 � 6√6�
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�

و ��ل  �3 ��ا� ADا��. ا�� ا��ازه ��ق  PHو  BCو�� ��ق  ABCD ، ����P. در ذوز��� ����وی ا������ 76

 ����، ����� ذوز��� ��ام ا��؟ ��7ا��  ���PHد 

1��42�

2��35�

3��28�

4��21�

��� ���� ����، ��� �B=30°و  AB=√3و  BC=8 د���.ا��دوران �� ABرا ��ل ���  ABC. در ��� ز��، ���� 77

 از دوران، ��ام ا��؟

1��
��√�

�
� 

2��
��√�

�
��

3��32√3��

4��16√3��

 ��ا ��ه ا��. ��� ��� ��������ه، ��ام ا��؟ 3، ���� �� ار���ع 8. در ��� ز��، از ����� �� ��� 78

1��448�

2��416�

3��400�

4��384�

�

 ، ��ام ا��؟AEDا��. ا��ازه زاو��  BC=80°و  B=60°. در ��� ز��، 79

1��75�

2��70�

3��65�

4��60�

�

�

,���R�x دوران  d. ���د�� ����� �� 80 y� � ��y, x�  ��2 ��رتx � 3y � 6 � ����. �����ت ��ام ���� �� 0

 ���؟��ق �� dدر ���د�� �� 

1��(-4,3) 

2����3,�
�

�
� 

3��(-2,-1) 

4����1,
�

�
��

�

�
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�

����� ��اد و �����، ���ه و ��آورد، ������ت �� �������� �ا������، ����� و ��ئ��ت ������ن، ����� ��ا�� �����، 

:���� 

81 ���� .AB � ����� ا���� ز��� �� ���� �� ��رت ����ا�� در �� �� روی ز��� ��ار ����� ا��. ا�� ����� ز��

 ��ل ���� وارد ��د، ���دار ��ش ���� ��ام ا��؟

 

 

 

 

 

 

 

 �� ا��؟ای در ��. ����� ��� ز�� ���ن د���ه �� پ���ه82

�������دو����ره1

2��������

3�������

�����ش4

�

�

�

���پ����ل ����، ��� ���� ����� ���و �زم ا�� �� ��را��  ���300، ���� 25ر�� �� ����� . ا�� ���و�� ���� و83

 �π=���3 در ا�� ورق ا���د ��د؟ ����� ��40 ��� 

1��1800�

2��900�

3��450�

4��325�

�

 ����� ��پ�ی ��� ز�� ��ام ا��؟. ��ا�� پ���اری و 84

�������ار�و�دو�در���������1

�������ار�و����در���������2

�������ار�و�����3

���������ار4

�

�
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�

 ��� ا��؟��� ��������� ��Aه . ���� ����85

1��30 �
√�

�
�

2��15 �
√�

�
�

3��31 

4��16 

 ���ر ا��؟ 4cmرو �� ��� ������ رو X. ���ار ���ن ا����� را���ی 86

1��621�

2��600�

3��590�

4��589�

�

�

�

 ��زه ز��، ��ام ا��؟. د����ام ��� آزاد 87
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 ��� ���پ����ل ا��؟ BC ،50 ���� ���� ��� ،���� ���� ���BCا�� ��� ���� ���� . 88

1��7/1�

2��1�

3��7/0�

4��5/0�

�

�

ا���ل ��ر و �� ��ض ��ا��ی ��ول ا����� و ���ن . ����� ��� �أ�����ار در دو ��� ��� ز�� از �� ���� ا�� و پ� از 89

 ����� ����� ا��؟���� �� ������ �� Bو  ����A ���ط دو ���، ����ا����� 

1�،������Bاز����������A�

����Aاز������������Bری،�2

3�،������Aاز����������B�

�����Bاز������������Aری،�4

�

�

�����ر ا��؟ �BΔو �AΔ. در ���� ز�� ���ار 90 � 1MPa, � � 1m�� 

1��0=BΔ5و��=AΔ�

2��mm5=B Δ=A Δ�

3��mm10=BΔ0و��=AΔ�

4��mm10=B Δ=A Δ�

�

�

�

�

�

�

 ��د؟از ��وت در ��ام ��رد ا����ده ��. 91

���،�از���رد���و�ز���زدن���������������������2دن�و���از����دن�ز�����������ن1

����ی���دن���������ن��آب�����4ی����ن�������������ز���3

 . ��� ا����ده از ��� ازاره ����؟92

�����از�د��ار���ای������زی��ز������و�����1

���������ی�از�����د���د��ار،���������دی�و����������2

����������از�����د��������روی�����������و����ذ�ر��������د��ار�3

�د��ار�و����و���در���ا�������د�����������ی�از����ذ�ر�������4

�

�
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�

 ���د؟��ام ����� ��رد ا����ده ��ار ���� . در د��ار��ی غ����ر�� ���ک ���� ��� ا���ل در ���93

����ی�ا�������ف��������2ری����������ا���ه1

�����ت���������4ف���ئ�3

 ��د؟��ر ����� ����. در ��ئ��ت ����� از ��� ��ق ����، ��ری ���� �� �� د��� 94

���ی������������������آ���و�������ی�از�ا���د���ک1

���ی�������آ���و�������ی�از�ا���د���ک����������ا��ود�و��2

��������ت�و�د��ه����ن����آ���������د������و������3

�زد������آ����������ی�از�ز��4

�

�

�

�

�

 ���د؟�� از �����ت ا��ا�� ز�� ا���م ����ام����� ��زی ��م ��. در ا��ای ��95

�������،�آ�����ر��ی،��������،������������،�دو�����ی،���������م1

�ای،�دو���������،�����������،�آ��������ی،���ت����������ن���������م2

�آ��������ی،���ت����������ن،������������،�دو��������،��������������3

�ای،�دو���������،�����������،�آ�����ر��ی،���ت����������ن��������ی،���������م4

 ز�� �آ����� در ��و��� ��ام ��رد ا����ه ����� ��ه ا��؟. در ��ئ��ت 96

1���������

2��������������

��������ر�����3

�����ت����������ن4

�

�

�

�

�

�

�

 ��د؟��ام ���� ا���د ��در �����ن ����، ���وی ���� در . 97

���در�دو�ا����ی�����������ن����2در�����������و�و��������ن1

�در�������������������4در������������3

�

�
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 �� از ��ئ��ت ز�� ��ای �� پ�� ���� ا��؟. ��ام98

 

 

 

 

 

 

 

 

 

 

 ���� ا�� در ����ری پ���ار ��ام ا��؟. ���99

�����ا�������ز����ا����������2ا������ا����ده�از���اد�و��������������1

�����ا���ا����ژ����������4ا�����ای�ا���ن3

 ط �� ����ری ��ام ا���� ا��؟��ی ��� ��م ��� ����. و����100

 ار���ع �� ��������ی ���� �� و ���ط���ز��ی ����، ا����ده از ����� �� ظ���� ��ار�� ز��د، ا��ان

�����م�و�����ب���������2د�و���������1

��������������������4ای���������3

 � ����� دارد؟. ���ان ا��ژی ���� ��ر��� در �� ���� از ��ه ز��� �� ��ام ���101

�����ض����ا�����������2زاو����������ر���1

���������ارد������4ار���ع�از�����در��3

 ���� ����ی �� در ����� ����� ���ی دا��� ��� �أ��� دارد ��ام ا��؟. ���102

�����ر��������3��������������4د���و�ر��������������2ن�آب1

 ���� ا����ری ����؟ �DHWS ������ن ��� و ����ل ��. در ���� ����103

��������ر���آب���م����������������������2آب���م������1

�������ل�ر�����ای���م����4ر�����ای���د������ل�3

 . در آ������ ������ن آ���رپ���ن و ا��و����ن �� ������ دارد؟104

�������ی������در�ا����ل���ارت�ا��.��آ���ر����ن��������ی���ب���ت�در�آ�������و�ا��و����ن��1

�ا��.��آ���ر����ن��������ی���ب���ت�و�ا��و����ن���������دن���ت�2

���آ���ر����ن��������ی���ز��ب���ت�و�ا��و����ن���ب���ت�ا��.3

���آ���ر����ن�و�ا��و����ن�در�آ����������و�����ارد.4

�
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�

 ��ی ز�� ��� ���� ����ی �� ���� ا��؟آ��ی �� ���� �� داده���ی ����� 22. ���� ا����ل ��ارت �� د��ار 105

 = ���� ��ا�� ��ار�� آ�� 68/0

 �������� ���1 ا��ود �� ��ف  2= ���� ��ا�� ��ار��  45/0

 = ���� ��ا�� ��ارت ��� دا��� 28/0

1��294/0�

2��618/0�

3��494/1�

4��618/1�

 ��14ار�� و ����ت ��ار�� د��ار در ��ر�� �� د��ار ����� و ��� آن  ���و�� ���105ی ��ال ����� 22. در د��ار 106

 ��������ی ا��؟������� ���� ��� 

C°20ti=                                 C°5-to= 

1��R=566/3���    �,����������Q=618�

2��R=1/618���    �,����������Q=618�

3��R=0/618���   �, �� ��Q=622/93�

4��R=0/294���    �,�������Q=566/3�

 ز����زی ����� ��ام ا��؟���� ��ک ��ای ���� آ��� ��رد ���ف در . �����107

�رس������ط���،������و��ی���ون���ک����2رس�و���������ط���ک1

�رس�و��ی������ط���ک���4رس،������و��ی������ط���ک3

 دارد؟��ی ز�� را �� از و����. ��� �������� ��ام108

��������������دارد.���������م���������������2ا���دارد.1

�����������رد������4ر��ی�در�����������ه�ا��.��از�3

 ���؟. ��ام ����� ��ف از ا���� ��دن ��� �چ �� ������ را ���� ���ن ��109

���������ز��ن����ش�����ن����������2د����������ن�در����ورت�آب1

���ا��ا������و�������ن������������4ن��ا��ا���3

 . ��� پ�� ����ه ��ام ا��؟110

������از�����آر������آر����ر��ی�آن����از�ر�������ن����������������ری���ار������.��1

��������از�����آر������آر����ر��ی�آن�����از�ر�������ن����������������ری���ار������.2

�ر����ر��ی�آن����از�ر�������ن��������������������ار������.�������از�����آر������آ3

�����آر������آر����ر��ی�آن�����از�ر�������ن��������������������ار������.��������از4

 ا��؟ ��در��. ��ام ����� 111

�����ی���ن������از����د�ا��.�����������������2در����������ن������از����د�ا��.1
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����������ر�����������������را����ل���ا��������.2

���ی��������������������ا��������.��ا��م���رد���������ح�رد��3

������ا��������در�د���ر���ر��ی����ور�����������ر�و��د���ا��������.4
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 ��د؟��� ���� ا��اث ��

1��2���2��3���3��4���4��5�
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�����ر�������.
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���.��در����ی�ادرا���ارزش����ت�����و����������������ت��پ�و�را�����������ا���ا1

����.�����ی�ادرا�����������������������و�����ع�����د�در�آن���������2
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